
          

nlntk'/ dxfgu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no 

k'Nrf]s, nlntk'/ 

k;n sjn ef8fsf]  

af]nkq :jLs[t ;DaGwL ;"rgf 

 

nlntk'/ dxfug/kflnsfsf] :jfldTjdf /x]sf ljleGg :yfgx?sf] Kofs]h g+= ! b]lv % 

;Ddsf tkl;n adf]lhdsf k;n sjnx?sf] af]nkqsf] nflu ldlt )&^÷)#÷)* ut] k'gM ;"rgf 

k|sflzt eO{ l/tk'j{s btf{ x'g cfPsf lznjGbL af]nkqx? tf]lsPsf] ;dodf vf]nL d'Nofsg eO{ 

tkl;n adf]lhdsf af]nkqx? :jLs[t ePsf] x'Fbf ;DalGwt ;a}df hfgsf/L u/fpFb} 5gf}6 

x'g'ePsf af]nkqbftfx?n] of] ;"rgf k|sflzt ldltn] & -;ft_ lbg leq cfkm"n] sjf]n u/]sf] 

dfl;s ef8fsf] @ -b'O{_ dlxgf a/fa/sf] w/f}6L /sd o; sfof{nosf] /fhZj k|zf;g dxfzfvfdf 

bflvnf u/L ;Demf}tf ug{ cfpg' x'g of] ;"rgf k|sflzt ul/Psf] 5 .  

 

tkl;n 

 Kofs]h g_= 1 

k"Nrf]s 

qm.;_. 
k;n 
sjn 
g_= 

af]nkq :jLs[t ePsf 
JolQmsf] gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 

 

qm.;_. 
k;n 
sjn 
g_= 

af]nkq :jLs[t 
ePsf JolQmsf] gfd, 

y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 

 

1 3.1 
;"b[itL OG^<k|fOh]h 

k|f.ln= 
sf]NŠ:^f]< 46,500 8 3.8 <fd]Zj< >]i& vfBfGg  30,112 

2 3.2 ;"<]zfgGb j}B ls<fgf 35,551 9 3.9 ljho vŠ\sL df;" k;n 35,555 

3 3.3 wGo<fh >]i& 
:^f]< 
œdf]lan• 

35,650 10 3.10 ;hgf j}B rfdn uf]bfd 31,551 

4 3.4 ;l<gf k|wfg  
vfBfGg 
uf]bfd 

33,000 11 3.11 
lIflth :ofªb]g 

nfdf 
vfhf k;n 30,000 

5 3.5 z";g axfb"< k|wfg ls<fgf 37,551 12 3.12 lji)f" s"df<L u"?é 
dlb<f 
xf]n;]n 

40,000 

6 3.6 Zofd s[i)f ;"j]bL 
vfBfGg 
ls<fgf 

32,000 13 3.13 lbn s"df<L u"?é 
dlb<f 
xf]n;]n 

35,000 

7 3.7 ch"{g ;"j]bL 
vfBfGg 
ls<fgf 

38,000 14 3.14 afa" <fhf dxh{g sf]NŠ:^f]< 25,505 

  



Kofs]h g_= 2 

on o"jfno 

qm=;_= 
k;n 
sjn 
g_= 

af]nkq :jLs[t ePsf 
JolQmsf] gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 

qm=;_= 
k;n 
sjn 
g_= 

af]nkq :jLs[t 
ePsf JolQmsf] gfd, 

y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n <sd 

1 13.1 lg<Ghg l<;fn df]afOn 1,09,999 7 13.7 d]g"sf kf}Š]n df]afOn 25,100 

2 13.2 lzj k|;fb e§<fO{ df]afOn 86,666.50 8 13.8 ;Gtf]if l#ld<] df]afOn 62,600 

3 13.3 u)f]z uf}td df]afOn 97,700 9 13.9 lbn axfb"< nfdf df]afOn 90,500 

4 13.4 <]vf s].;L. Š«fOlSng;{ 45,500 10 13.10 ;l<tf nfdf df]afOn 36,500 

5 13.5 lbgf k|wfg Š«fOlSng;{ 40,000 11 13.11 ;"l:dtf nfdf :^]zg<L 75,500 

6 13.6 kf<; s]=;L= df]afOn 90,299 12 13.12 lgnd nfdf 
On]S^«Ls 
;dfg 

75,500 

 

  



Kofs]h g_= 3 
nugv]n, jŠf g_. 5 < 15 l:yt ljB"t k|flws<)fsf] bfof_ afof_ <x]sf k;n 

qm.;_. 
k;n 
sjn 
g_= 

af]nkq :jLs[t 
ePsf JolQmsf]  
gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 

qm.
;_. 

k;n 
sjn g_= 

af]nkq :jLs[t 
ePsf JolQmsf]  
gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 
 

1 15.1 zld{nf l<hfn d;nf k;n 85,557 20 5.19 ;"sb]j rfln;] 
s:d]l^s 
k;n 

45,000 

2 15.2 lgd{nf >]i& d;nf k;n 63,525 21 
5.20,21,
22 

c?)f sfsL{ 
ld&fO{  
k;n 

1,85,000 

3 15.3 ;lGhj gu<sf]^L km]G;L k;n 85,111 22 5.23 l<gf zdf{ 
ld&fO{  
k;n 

52,037 

4 15.4 gj<fh gu<sf]^L 
kmnkm"n 

k;n 
81,111 23 5.24 uLtf sfsL{ 

ld&fO{  
k;n 

25,999 

5 15.5 
z}n]z c^f] 
;]G^< 

df]^/ kf^{;\ 61,700 24 5.25 - 
ld&fO{  
k;n 

- 

6 15.6 
s[i)f axfb"< 
dxh{g 

On]S^«Ls 

k;n 
61,100 25 5.26 - 

ld&fO{  
k;n 

- 

7 15.7  - ef+*fs'+*f - 26 5.27 <fh]Gb| b]zf< 
ld&fO{  
k;n 

30,000 

8 15.8 
dlxdf kf]nL 
lSnlgs 

cf}ifwL 35,000 27 5.28 
<fd k|;fb 
zfSo 

cf}ifwL 

k;n 
40,001 

9 15.9 <fwf s[i)f >]i& sk*f k;n 35,101 28 5.29 
lg<Ghg 
tfd|fsf< 

ld&fO{  

k;n 
39,555 

10 15.10 
ef_Šfs"_Šf k;n 
œ?b| :^f]<) 

ef+*fs'+*f 40,550 29 5.30 
pk]Gb| axfb"< 

>]i& 
df]^/ 

kf^{;\ 
35,000 

11 15.11 lbn s"df<L vqL ef+*fs'+*f 40,770 30 5.31 
lk.s]. rd]gf 

u[x 
dMdM k;n 51,555 

12 15.12 k|zfGt u]nfn r:df k;n 72,100 31 5.32 z}s< Gof}kfg] xf]^n 55,556 

13 15.13 
w|"j gf<fo)f 
g]Ds"n 

:^'l*of] 52,000 32 5.33 
zflnu|fd 
;fksf]^f 

km]G;L 

k;n 
47,771 

14 15.14 
;"lgn <fh 
hf]zL 

kmnkm"n 

k;n 
50,100 33 5.34 

dg s"df<L 
#n] 

dMdM k;n 39,650 

15 15.15 Pd.^L. ;Knfo;{ 
kmnkm"n 

k;n 
54,555 34 5.35 lbk]z vŠ\sf ;f]*f k;n 34,000 

16 
5.16 
s 

- uf]bfd - 35 5.36 - dMdM k;n - 

17 
5.16 
v 

cf]d ;fO{ <fzg 
^«]Š;{ 

Rofp k;n 15,000 36 5.37 - xf]^n  - 

18 5.17 k|m]z ld^ xfp; df;" k;n 35,000 37 5.38 - 
d;nf 

k;n 
- 

19 5.18 
zfxL <fzg 
;Knfo;{ 

df;" k;n 30,000           

 

 



Kofs]h g_= 4 

nugv]n l:yt ldgL dfs]{^ œ;Šs %]psf]•) 

qm.;_. 
k;n 
sjn 
g_= 

af]nkq :jLs[t 
ePsf JolQmsf]  
gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 
 

qm.;_
. 

k;n 
sjn 
g_ 

af]nkq :jLs[t 
ePsf JolQmsf]  
gfd, y< 

k;nsf] 
lsl;d 

dfl;s 
sjf]n 
<sd 

1 12=1 ;<f]h dxh{g a]s<L 55,116 12 12=12 
gfgL d}of 
dxh{g 

cfn' Kofh 
xf]n;]n 

32,000 

2 12=2 ;"<]Gb| dxh{g df]afOn 59,115.15 13 12=13 
gfgL do\h' 
k|hfktL  

cfn' Kofh 
xf]n;]n 

30,900 

3 12=3 ;f]ljGb| dxh{g xfŠ{j]o< 45,500 14 12=14 
t]h dfg 
k|hfktL 

cfn' Kofh 
xf]n;]n 

11,000 

4 12=4 
gGb s"df<L 
dxh{g 

:^]zg<L 61,111.15 15 12=15  - 
dŸdŸ 
km\ofS^«L 

- 

5 12=5 -  \̂of^' xfp;  - 16 12=16 
afbn 

lzNksf< 
dŸdŸ 
km\ofS^«L 

25,111 

6 12=6 -  kfg k;n  - 17 12=17 
wd{ s"df< 
>]i& 

df;" k;n 45,005 

7 12=7 ;fu< ah|frfo{ ^fo< k;n 47,117 18 12=18 
dgsfdgf 
kmfi^km"Š 

kmnkm"n 
k;n 

65,000 

8 12=8  - 
kfg e)Šf< 
xf]n;]n 

- 
 

19 12=19 pd]z dxh{g dŸdŸ k;n 62,222 

9 12=9 ljj]s cdfTo 
dŸdŸ 
km\ofS^«L 

35,250 20 12=20 
<fh]Gb| s"df< 

vŠ\uL 
dŸdŸ k;n 50,000 

10 12=10 
<fd s]z<L 
k|hfktL  

ls<fgf 
k;n 

32,600 21 12=21 lht]g dfnfsf< dŸdŸ k;n 50,000 

11 12=11 ;? dfnfsf< 
Knfli^s 
xf]n;]n 

50,000 22 12=22 
;fu< <]lŠd]Š 
skŠf k;n 

kmnkm"n 
k;n 

71,000 

 

 
 
 
 
 
 
 
 
 



Kofs]h g_= 5 
nugv]n l:yt ldgL dfs]{^ œ1 - 9) 

     

qm.;_. 
k;n 

sjn g_= 

af]nkq :jLs[t ePsf 
JolQmsf]  
gfd, y< 

k;nsf] 
lsl;d 

dfl;s sjf]n 
<sd 

 

1 12.1 bfgb]jL ;fxL df;' k;n 60,000 

2 12.2 lbn axfb"< ;fxL df;' k;n 60,000 

3 12.3 lbn s[i)f ;fxL ef]hgfno 30,000 

4 12.4 sdnf ;fxL ef]hgfno 30,000 

5 12.5 k~rdfof vŠ\uL ef]hgfno 30,000 

6 12.6 clDasf lrqsf< df;' k;n 70,000 

7 12.7 uf]kfn dfnL dfnfsf< df;' k;n 70,000 

8 12.8 dx]Zj< >]i& dMdM k;n 21,111 

9 12.9 lbk;g s].;L. dMdM k;n 21,767 

 


